





Sind the Sirst derivative of any linear function.

$$S(x) = mx + b$$

$$S(x) = \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} = \lim_{h \to 0} \frac{m(x+h) + b - mx - b}{h}$$

$$= \lim_{h \to 0} \frac{mx + mh - mx}{h} = \lim_{h \to 0} \frac{mh}{h} = \lim_{h \to 0} m = \frac{mh}{h}$$

$$S(x) = 2 \sin x - x$$
Sind x values over $[0, 2\pi]$ where $\tan . \text{line is}$
horizontal.

Horizontal lines have Zero slope.

$$S'(x) = 0$$

$$S(x) = 2 \sin x - x$$

$$S'(x) = \lim_{h \to 0} \frac{S(x+h) - S(x)}{h} = \lim_{h \to 0} \frac{S(x+h) - 2\sin x}{h}$$

$$= \lim_{h \to 0} \left(\frac{3\sin(x+h) - 2\sin x}{h} - \frac{x+h}{h} - \frac{x}{h}\right)$$

$$= \lim_{h \to 0} \left(\frac{3\sin(x+h) - 3\sin x}{h} - \frac{1}{h}\right)$$

$$= \lim_{h \to 0} \frac{2(\sin(x+h) - 3\sin x)}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h} - \lim_{h \to 0} \frac{1}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin x}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin(x+h)}{h}$$

$$= \lim_{h \to 0} \frac{\sin(x+h) - \sin(x+h)}$$

other notation for derivative

For
$$S(x) \rightarrow S'(x)$$
 first derivative

$$\frac{df}{dx} = \frac{d}{dx} [f(x)] = \frac{dy}{dx}$$

If $y = S(x) \rightarrow F$ first derivative $y' = \frac{dy}{dx}$

$$S'' = \int_{a} \int_{a} [y'] = \frac{d}{dx} \left[\frac{dy}{dx} \right] = \frac{d^2y}{dx^2}$$

